EARAROBEEIERT — 2 N— IBISH —F

201746A3H () 3mpR#1A

Il >%3%L 5005F (B8

HEE] EE

‘ [Riz] & ‘ [REBE] — | & (%) 1800M THE

[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— 4 g 4 3 | FMEEBEZ 1:52.8 1-1-1-1 [37.5| 94.8 | 3 428 | KAREEE (ER)

1 10| 7> TR 54.0 % oy | KB
R ATAT v — BivFUTI—X HET7— L
= # 3 | Eo#EN 1:52.8 3-3-2-2 [ 37.2] 95.1 | 11 438 | ATEER (ER)

2 15 TAILFa—N\1 540 (7€) (o) | TTEIE#
R:75v784F B:FA1AILEXA T4 I L4US
LS 403 | JIEEHE 1:53.2 6-6-6-4 | 37.4| 91.4 | 1 520 | FHEE (BR)

30 3 ~RIVZ g —Ib 54.0 (2 1/2) (+2) THEC
L:2%—h77)0> B:ECTI—N J=HrTrp—L
SL—4 3 | BHE 1:53.3 10-11-10-8 | 87.3 | 90.5 | 7 | 464 |=HRM (RF)

418|147 A52.0 (3/4) (+10) (%) G1L—>>7
RGATAT v — BIT4—RTNELT(—F () #HBaA-—KL—Ya>BETr

K # 3 | M. FL-0O 1:53.4 12-12-13-12| 37.0 | 89.6 | 5 476 | AHE (ER)

5 gl *T¥av~hqa 54.0 (7€) (46) | AARHFIE
T4 bT—=EY BiXA2 a3y —X = re]

LR C e 4 4 | C. x— 1:53.5 9-9-8-4 |37.5| 88.6 | 2 506 |AREBEZ (ER)

6|58 KD 1 XL L 57. (1/2) 46) | W) K-l -39
XL THANAN BT v X518~ & Bl

= 4 3 | BKHE— 1:53.5 3-3-5-4 |37.8| 88.4 | 6 494 | BRE (BF)

70111 |0 5%k~ 540 (76 Lo |BBEX

Rir—77523 B:T75-FA v RXIR ¥ Tr—4
PSRN # 3 | BERX 1:53. 14-14-14-14|36.9 | 87.7 | 8 468 | B (RR)
8159 F—J72FK 54.0 (7€) (-¢) | ALAIFL—ER
L:TY XL Bx—vaAA chA IS
¢, o £ 4| HE 1:53.8 2-2-2-2 | 38.3| 8.9 | 9 516 | PIFIME (FRR)
9|7|13| PIVLINT A T o (1 1/4) Ge) | MEE=
R:Er/n70oq4 B NITTA Bt /—ZEX
Sos BERRA :54. -9-12- . . HILUEE (FEX)
@RI LEAY H o4 e (11514/4% 10-9-12-12 | 37.9 | 83.9 | 12 (5_4‘;4) ki
RiFATAT v — BANRCITR—L J—HrTr—L
o4 | X 1:54.0 7-6-8-10 | 38.1| 84.0 | 4 484 | HATIEM (BR)
g 57.0 5 E) o |TERiE
R:Fh¥~=712248 B:2 77y 7OvY miE ®E
N = FEH : 56— BREBFZ (EH)
®Ja9a—FhS i 5 = 1.(534).5 5-5-6-8 | 38.7 | 80.0 | 10 :gg) e
R:wh>orry B:Vavia-—-g4> AN
s — e E2HMEE :54. -8-10- . . WTRL (ER)
B ISR # 5 = 1(15/42>6 8-8-10-10 | 38.6 | 79.0 | 13 (4_528) @*;%
L:O—J X124 B:¥ 19940 FK EEickie
N N FRIGABA :54. ~15-15- . . AL (ER)
PR A Y H 5 e 1(15/42>7 15-15-15-15| 37.4 | 77.6 | 15 :?2) e
L:T7LrFFE2T+ B:Fs—TZX%—+ FREHS
¢ S 5 it 3 | RALLBAE 1:55.1 12-12-4-4 | 39.4 | 75.4 4 | 498 |IROIERI (3ER)
NRAAZT S —H— "8 A B el s R P
IVNATA—H— BTIALYT = bie

@ 21 L

£ 49.9-37.5

NA> 24 L | 12.9-11.5-13.4-12.7-12.4-12.4-12.8-12.0-12.7

® 1—F—@EBIERL

13=3F= 10,13(1,15)2,3,7,11,8(4,14) (6,12)9-5

Pal=5F= 10,13(1,15)2(7,3)11(4,8)14(6,12)9-5

== 10(13,15)12,1(2,3) (7,8) (11,14) 4-6,9-5

40—F— (¥10,13,15) (1,3,12,8) (2,14) (7,11) (4,6)9-5

[ N5

BB 10 710 714K 10-15 3,000 e E 6-8 3,820 JEE 3-10-15 11,180M

# B 10 210H 3-10 510 B = 10-15 10,740H JEH 10-15-3 95,160/

15 720M 3-15 2,230H B H 10-15 17,150
8 1509

ABICOVWTRDTEEERROODE. TR LIV,




